EARAROBREBRT —5 XN—ZXBISH—F

202459826H () 12BHAE3H

I Y ) STRSHY RILESE 2 (hRES H5H—iy B
[A&£] 1% :550,000H  27&:176,000 W  337&:99,000H  43%&:66,000 "  57&:44,000 H
B % B FrE R/ I MHE BF (F8) 4L (EE) | @BIEMI | £3F |SEH | AR | #E | BREN FR) / BE / £ERS
, <= G : - bkt (152
104 | JLV—RIVTUL o4 | JRER 1.(3_2).0 2-2-2-2 | 39.7 3 (4_411) gﬁggﬁ (V)
RFSIN—T BiA—T AL NIFARF—TI
o 5 | A 1:32.0 1-1-1-1 [39.8| — | 2 | 533 |AEE¥ (EE)
218l12|ETF AL e 56.0 oTS) +16) (B J P NG
Ri—5—Yvr BEIFI«TL #HEBT7—L
<, = atnst : -7-8~ - IUEEA (E8
Y > DA% "R 7 I ©L T wmes
R:FIYVTSvT B:SHUTHI=— J=YUTr—L
o 3 P FBEAF 2 -8-4- - alliEx (k&)
45| 5| 7oVRI—TLA w4 B9 G | R Pl |mwAe
RNT B:yzURUYR NE &8
4 | PUEE 1:32.3 55-9-9 (386 — | 9 | 491 |EBT® (£
EH 8 YFr¥/\QgO = 56.0 (3/4) -11) (EJ;ENH R?I
RIARX—KT 7Y B:T7I« R YIUNAVTF—A
N . SEET . ~11-7- = REE (IE8)
6l5lg| =17 5 | RS W | | s 11 (5:33) el
Rey/0704 BeAIYILFA i I
S~ BT : -6-3- - FURE (K&
7 3| YV3dvFav AR e 1(33/24)6 e 9.0 ° (4+511) Eﬁ%i% W
RiZTU—FA B:IU-UHYIS(X BARIS
= )|t 52 2 -9-10- - LIEE#E (&)
glgly| TUHITS o4 | i 1.(312).8 9-9-10-10 | 38.7 4 gz) LU (=R
RVPYNARE— 804 FTFUAIY TEHRIS
5 ol — o4 | RRER 1:32.8 [12-12-11-11)38.3| — | 7 | 488 |EBTE (£
9(7/10| YTANU—=F 54.0 L) Ly |mETE
RNZAMDF—U7 £:2Z/e0404Y v EK
. <3y 5 | SSEE—ER 1:33.1 3468 (39.6| — | 1 | 469 |NBEEE (£
10179 |YVyo9ro0v # %.0 a1/ ) E5ET
RinZ—kba1—X B:AUFTRT(I— NLE Es
& ffEDzs .33, _3-5-, . - Bz (E8)
17 LFILF o i4 1331 7-3-5-4 | 39.7 10 21_137) IHEe |
RiFAATU—bhFry b H:T7U—-IF7I—h % B5
HigA 2 -10-12- - BB (E8)
11111 | nazn %4 | EE 1.(333).7 10-10-12-12| 39.5 1 21_3“7) BRI (W
RNV yE— BNV GEAY H—RSN—T 2T R
@ 1—F—@BIEfL
13l=7r= 12,4,9,3,8,2,7,5,11,1,6,10
20—F— 12,4,7,9,8,3,2,5,11,1,6,10
Jal=zr= 12,4,3,5,7,9,6,2,8,11,10,1
40— — 12,4,5,7,3,2,6,9,8,11,10,1
@ IhRE
B B 650 | | 91 R 4-12 1,060M & 4-8 1,290M 3EE 2-4-12 9,240
B B 4 310 2-4 1,080 55 4-12 2,660 38 4-12-2 52,870M
12 270M 2-12 1,010MH4 B e 4-12 5,720M
2 320M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




